Math 111 Monotonicity Examples

the back
SOLUTIONS
Now suppose we have an election between

Arya (A), Bran (B), and Jon (J).

|6]5]3]7]
1 |A|B|B|]J
. . . . . o 272 JTIA|T | B
1. Find the winner using Plurality with Elimination. .
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Now suppose the three voters in the third column change their votes: they pick 1° Jon, 27 Bran,
and 3% Arya.

2. Draw the new preference schedule which reflects this change. Is this change an
appropriate way to test monotonicity? Explain.
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3. Find the winner using plurality with elimination.
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4. Suppose instead, from the original election, that the six voters in the first column

changed their votes to pick 1¢ Bran, 2" Jon, and 3 Arya. Is this change an appropriate
way to test monotonicity? Explain.
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